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1. 3d/ 4s0123456789 �
A
.

Cr �
B
.

Mn �
C
.

K �
D
.

Cl 

 

2. : H3AsO3; As
5<=>8?

 �
A
.

-3 �
B
.

-1 �
C
.

3 �
D
.

5 

 

3. @ABCDEFGHIJ:589�
A
.

(3K2K-2K-1/2) �
B
.

(1K0K0K1/2)  �
C
.

(1K0K0K0)  �
D
.

(5K3K1K1/2)  

 

4. LMNOPQ H�R1ST<=UVW<=X/<Y589 

(A) 
NOZ

       

(B) 
NO[

        

(C) 
NO\

       

(D) 
NO]

 

 

5. Ca3(PO4)2^_` Ksp
� abc89 �

A
.

Ksp
�[Ca3(PO4)2]=[Ca

2+
][

3

4PO −
] �

B
.

Ksp
�[Ca3(PO4)2]=[3Ca

2+
]

3
[2

3

4PO −
]
2
 �

C
.

Ksp
�[Ca3(PO4)2]= [ Ca3

2+
][(PO4)2

3−
] �

D
.

Ksp
�[Ca3(PO4)2]= [Ca

2+
]

3
[

3

4PO −
]

2
 

 

6. @ABCUdMefg5h�ij '(589 
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(A) BaCO3  >  MgCO3  > K2CO3                

(B) NH3  <  PH3  <  AsH3 

(C) NH4Cl  >  (NH4)2SO4             

(D) Na2CO3  >  NaHCO3 > H2CO3 

 

7. 20.00mL0.200mol·L−1
HAc/ 20.00mL0.100mol·L−1

NaOH^klm no^k pHp89
 �

A
.

8.72 �
B
.

4.75 �
C
.

5.28 �
D
.

9.26 

 

8. qr1 stuPv5=mU w�Ec89 �
A
.

K4[Fe(CN)6] �
B
.

K3[Fe(CN)6]
 �

C
.

KFe[Fe(CN)6]
 �

D
.

(NH4)2Fe(SO4)2 

 

9. KMnO4:OgV;g/xgyd;z${|5<=g :}~yd;�<=�Q �5���U��19 �
A
.

Mn
2+ 
V

MnO2 / 2

4MnO −
 �

B
.

Mn
2+
V 2

4MnO −  /MnO2 �
C
.

Mn
2+
V

Mn
3+ /MnO2 �

D
. 2

4MnO −V
Mn

3+
 /Mn

2+
 

 

10. : CuSO4^k;L��D5�OZ^k ����5�U89
(A) Cu(HCO3)2                   

(B) CuCO3 

(C) Cu2(OH)2CO3                 

(D) Cu(OH)2 

 

11. @AB��E��E; GJ: 4

3Π �5�E89 �
A
.

CO2 
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�
B
.

SO2 �
C
.

O3 �
D
.

3NO−
 

 

12. ��O�^k5Og����19�
A
.

HF > HCl > HBr > HI �
B
.

HI > HBr > HCl > HF �
C
.

HBr > HCl > HF > HI �
D
.

HF > HI > HBr > HCl 

 

13. :�Og��@ �� H2S 
zI���=U��589

 

(A) Cr
3+ Al

3+
                   

(B) Sn
2+ Pb

2+
 

(C) Cr
3+ Sn

2+
                   

(D) Al
3+ Pb

2+ 

 

14. � %&¡�¢£ @A¤¥'(589 �
A
.�GI¦§¨E

 �
B
.�5ID©n$���E¢£5IDª �

C
.�5ID©�«5�E¢£IDª �

D
.%&ef5�E¬$­¨E:¡�¢£~ 

 

15. 
¡«9 −

4MnO  + 8H
+
 +5Fe

2+
  Mn

2+ 
+ 4H2O + 5Fe

3+ ®¯°±²³´µ¶·
 ¸¹º»¼½¾¿

 À
AÁE (

−
4MnO / Mn

2+
) – E (Fe

3+
/ Fe

2+
) = 0 À

BÁE� (
−
4MnO / Mn

2+
) –E� (Fe

3+
/ Fe

2+
) = 0 À

CÁE (
−
4MnO / Mn

2+
) –5E (Fe

3+
/ Fe

2+
) = 0 À

DÁE� (
−
4MnO / Mn

2+
) –5 E� (Fe

3+
/ Fe

2+
) = 0 

 

16. ÂÃÄ 1Å 0.10 mol·L−1 ½
NH3ÆÇÈºÉÊËÌNH4Cl ÍÎµÏÐÃÑÒ¿ À

AÁNH3Æ½ÓÔÕÖKb
� ×Ø 
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À
BÁNH3Æ½ÓÔÕÖKb

� ÙÚ À
CÁÇÈ½pHÛÜÝ Þ
DßàáâpHÛãä 

 

17. åæçèéêëìíîïðñâòóéêôõ 

(A) MgöAl     

(B) Zrö Hf      

(C) AgöAu     

(D) Feö Co 

 

18. åæ÷îöøùúìûüýH2O2

âôõ
 

(A) K2O2         

(B) Na2O2        

(C) KO2          

(D) Na2O 

 

19. åæàáëpHÛïäâôõ Þ
Aß0.200 mol·L−1 âþøëÿ����â0.200 mol·L−1 â

HCl Þ
Bß0.200 mol·L−1 âþøëÿ����âø Þ
Cß0.200 mol·L−1 âþøëÿ����â0.200 mol·L−1 â

H2SO4 Þ
Dß0.200 mol·L−1 âþøëÿ����â0.200 mol·L−1 â

NH4Cl 

 

20. 
ï��

[Fe(H2O)6]
2+ Þ

µ=5.0 B.M.ß��âôõ 

(A) sp
3
d
2�	ì
�í 

(B) sp
3
d
2�	ìù�í 

(C) d
2
sp
3�	ì
�í         

(D) d
2
sp
3�	ìù�í 

 

 

21. �
���� k
â��ìåæ����âôõ Þ

Aß����� Þ
Bß���mol·L−1

·s−1
 Þ

Cß���mol
2
·L−2

·s−1
 Þ

Dß���ùú�  

 

22. !"íàáëì#$%&â'è()ôõ
(A) K

+ ìI
−ì 2

4SO − ì −
4MnO     
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(B) Na
+ìZn

2+ì 2

4SO − ì −
3NO

(C) Ag
+ì 3

4AsO −ìS
2−ì 2

3SO −
       

(D) K
+ìS

2−ì 2

4SO − ì 2

2 7Cr O −

 

23. åæ*���âôõ Þ
Aß+�()ëì#,-à.�äâ/01' 234 Þ
Bß5()/067ô8967:-;/0 Þ
Cß<à.�Ýâ/0' =>	-à.�äâ/0 Þ
Dß?àáë@�÷îâ()�ä
9à.�AìB÷îC=àD 

 

24 åæ"ëìüô'é"âôõ 

(A) H3PO2        

(B) H3BO3         

(C) H5IO6       

(D) HCl 

 

25 åæçè	�÷ëìEFà
øâ'èôõ 

(A) BaCrO4
ìLiF                  

(B) Mg(OH)2
ìBa(OH)2 

(C) MgSO4
ìBaSO4                 

(D) SrCl2
ìCaCl2 

 

26. åæçGHëìI	J÷îâI	íïKâôõ 

(A) [Cu(NH3)4]
2+

 / Cu
 

 (B) Cu
2+ 

/ Cu 

 (C) [Cu(en)2]
 2+

/ Cu 

 (D) [CuY]
2−

/Cu
 

 

27. LAg
+M

Hg
2+M +2

2Hg
M

Pb
2+ 
â+�áëN(4

Ag
+ìOÿ�âPQ�õ

(A) H2S        

(B) SnCl2      

(C) NaOH       

(D) NH3·H2O 

 

28. RSTU CaCO3(s) CaO(s) + CO2(g) V  W 937K XV K� (937K)=2.92Y
10

 −2Z[
1173K \ZK� (1173K)=1.04

Z]^_`ab
 c

Adef_` 
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c
Bdgf_` c
Cdhijk c
Ddlmno 

 

29. H2O2pqrstuvwxZyuH2O2

vz{ab
 

(A) |}~ 

(B) ��~ 

(C) ��~         

(D) ��~ 

 

30. ��� pH=6.50
v����Z`���������y�v������b

 c
Ad(CH3)2COOH  

c
Ka

�=6.40
Y

10
 −7d c

BdClCH2COOH  
c
Kb

�=1.40
Y

10
 −3d c

CdCH3COOH    
c
Ka

�=1.75
Y

10
 −5d c

DdHCOOH      
c
Ka

�=1.77
Y

10
 −4d 

 

31. ���v3p�3d� 4s ��v�� ¡ab c
AdE(3p) ¢ E(4s) ¢ E(3d) c
BdE(3p) = E(3d) ¢ E(4s) c
CdE(£¤¥¢ ¦ §£¨¥ ¢¦ §©ª¥ c
Ddl 3p�3d�4s«¬Zl­®�� ¡ 

 

32. 
��_`[

298K
Z¯°±�²³Z

CO2

v¯°´µ¶·¸ab
 c

AdCO(g) + 
2

1
O2(g) == CO2(g)              ∆rHm

�= –280.3kJ·mol
−1

 ¹
BºC(»¼½) + O2(g) === CO2(g)            ∆rHm

�= –395.38kJ·mol
−1

 ¾
C¿2C(ÀÁ) + 2O2(g) === 2CO2(g)           ∆rHm

�= –787.0kJ·mol
−1

 Â
DÃC(ÄÅ) + O2(g) === CO2(g)              ∆rHm

�= –393.5kJ·mol
−1

 

 

33. ÆÇÈÉÊËÉÌÍÎÏÐÑÉÒÓÔÕ Ö
A×H2O Ö
B×NH3 Ö
C×H2Se Ö
D× 4NH+

 

 

34. ØyÙÚÛÙÜÝÞÉßàáâÜãäå σ
ÛÓÔÕ
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Ö
A×px - px Ö
B×py – py Ö
C×pz – pz Ö
D×px – s 

 

35. ÆÇæÌÜæçèéÓÔÕ Ö
A×H2SO4 Ö
B×H3PO4 Ö
C×HClO4 Ö
D×HClO 

 

36. êëÆÇìíîïðÓÞÑñÍòóôõöçÑ÷ÓÔÕ Ö
A×H2 + Cl2 === 2HCl(aq) Ö
B×Zn + Ni

2+
(aq) === Zn

2+
(aq) + Ni Ö

C×2Hg
2+

(aq) + Sn
2+

(aq) +2Cl
 −

 (aq) === Hg2Cl2(s) + Sn
4+

(aq) Ö
D×Cu(s) + Cl2(g) === Cu

2+
(aq) + 2Cl

 −
 (aq) 

 

37. øùúûüýþÿ������ 

(A) Ca3(PO4)2 �Ksp
� =2.0×10

 −29�
 

(B) Fe(OH)3   �Ksp
� =4.0×10

 −38�
 

(C) Cu(OH)2  �Ksp
� =2.2×10

 −20�
       

(D) FeS     �Ksp
� =6.3×10

 −18�
 

 

38. øù�	ý
���� 

(A) CHCl3�
������C�Cl������� 

(B) CHCl3�
�����C�Cl������ 

(C) CHCl3�
������� C�Cl�����        

(D)CHCl4�
������ C�Cl������ 

 

 ����������������
 ������ 1��� 47�     

1. ! Ni + 2Ag
+ = 2Ag + Ni

2+ "#$%&'()*+,%-./0
 123456

__________________________7  

 812395:;6
___________________________________

/
 <=

E� (Ni
2+ 

/ Ni) = -0.25 V7E� (Ag
+ 

/ Ag) = 0.80 V70>?@A8:;3BCDE
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6
______________

/
 

 

2. F1GHI1s
2
2s

2
2p

4
4s

1J
1s

2
2s

2J
1s

2
2s

3
2p

1J
1s

2
2s

2
2p

6
3s

1
3d

1J
1s

2
2s

2
2p

1
2d

1
3s

2J
1s

2
2p

2
3d

1K L
 M N O P Q R S T                        

L
                      M N O P U V R ST                                                           

L
  W X M Y Z ST                                                               [ 

 

3. \]^_`ab KI cdKLefcdgh         iLjklmSnoT               pqr_`]^Lcdsituv                  iLjklmotuv                  [ 

 

4. wxyzcdK{|}S~��� 

    

3BrO−���
 BrO−

 
���

 Br2 
���

 Br
−
  

     

  

  �yz��K�Vl����So�T              
L\dR Br2�NaOHcd��L���SnoT                                 [ 

 

5. wx��P[Cu(NH3)4]
2+S�������S����v�5.0�10

 −3�
9.1�10

 −4�
 

2.1�10
 −4�

 4.9�10
 −5
L��������v

                
L

  
�����v

                [ 

 

6. 
�

1.0mol·L
 −1

NH3 ScdKL¡`¢�£SNH4Ac ¤¥L�¦NH3S~� §
            

L¨T©v         ª�S«¬[­¡` NaCl ¤¥L� NH3 S~�§�
              

L¨T©vnl®             ª�[ 

 

7. ¯°cdK H
+±§²¡L³´µ�¶Sµ�·¸T²¹�º»¼T�u� 

 Cl2(g) __________________ 
L

2

2 7Cr O −
 _________________________[ 

 

8. ½¾¿}ÀµÁHClO
�

HClO3
�

HClO4Sz�L ÁzÂÃÄÅSÆÇ                                               p 

 µ�zÂÃÄÅSÆÇ                                                p 

0.45 V 

 

0.54V 

 

1.07 V 

 

0.61V 
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 ÈÉÊËÌÍÎÏÐÑÒ
                                              Ó 

 

9. ÔÕÖ[CuCl2(en)2]Cl
Ð×ØÙ

                                   ÚÛÜÝÞÐÔßàá     ÚÔßâá            ÚÔßãÞá             Ó  

 

10. äåæçè Br2

ÐéêáëìíîïðñòóÚôõöË ÷
pH=3.5øùúû

__________ùü Brýýýý þÿ�
Br2����û           

ü
 Br2��ù� Na2CO3�	
�ù �
�����

____      ________________           ______________________� 
 ������

Br2
ù�
�����_____________     ________________________� 

    

11. �����
� ∆rGm
� �

K�
�

 

    C(s) + O2(g)  CO2(g)           
�

mrG∆ (1)� K�(1)   

    CO2(g)   CO(g) + 
2

1
O2(g)      

�

mrG∆ (2)� K�(2)  

C(s) + 
2

1
O2(g)  CO(g)         

�

mrG∆ (3)� K�(3)  

  !"# �

mrG∆ $%&'()                                     � 

  K� $%&'()                                             * 

 

12. +,-./0123&456789 

(1) :;<./=__________________   

 (2) >?./=____________________    

(3) @AB./=__________________* 

 

13. HF &CDE=HCl &CD�8F)                                        
MgO &GDE=CaO &GD�8F)                                      HIJ

NaF KLMNOPCuCl KLMNQRST                          U 
SiO2KVNOP SiF4WXKVNQRST                                 Y 
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14. Z 24 [ \ ] K ^ _ ` a K b a c d e R
__                

_
QfgPZ_______hij______kj       lQmno[R________Ypqrsa t K u v w x y z { ` a | } +2 ~ � � a � � � K � r ba              

j
             Y 

 

 �j�������������������������������������������������������� ���
2 wQ� 10 w� �

1�Mn
2+

  +  
2

2 8S O −
 

 
+Ag→    

������ �
2�Cl2  +  NaOH

��� →  �
3�Fe(OH)2  +  H2O2   →    �
4�Zn  +  HNO3

����   →    �
5�CuSO4  +  KI   →    

 

     ¡¡¡¡¢£¤¢£¤¢£¤¢£¤ ¥¦
15§  ̈

1. ©ª«¬­®¯°±²³´µ«¬¶«¬·¬O2¸ 2

2O − ¹«¬­®º±
 »¼½¾¿¸ÀÁ±ÂÃÄÅÆ¹ÇÈ¿ÉÊËÌ7«Í 

 

2. ©ª´µÎÏÐÑÒÓÔÕÖ¹«×Ø Ì∆o

Í¶ÖÙ·¬¹Ú¬ÛÜØ Ì
Ep
Í¹ÝÜÉÊ±Þß³àÎ·¬¹ÖÙ·¬¹

d
­®áâãä±åÛÜÚ¬àæçè±éê½¾¿±Âë³ìÎ·¬¹íî ÌïðñÎ·¬òóðñÎ·¬ÍËÌ

8
«Í

 Ì
1
Í

[Co(NH3)6]
3+

    ∆o > Ep Ì
2
Í

[CoF6]
3−

        ∆o < Ep 

 

 ôôôôõõõõö÷øö÷øö÷øö÷ø Ì
10
«Í

 ùúûüýþÿ
A������üý�� B�B���	HCl.
�þÿA

���
HNO3
���ú�� A ��ý��
� AgNO3������������� C

�
C �!"#$% D&'( D )*+��� C&, H2S -�./01 A 2��3*+4�� 

E&E �!56(7�$%�� F
�'(�� F

*+8�� 
G&,./
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A
0129:����;HgCl2��3������ H

�<=��>:
A
�� ?@�AB?C�*+C�� 

I&DE��� H
��>:"#�FGH(I@C�� �J3./

IK��� J
�L

A  → JMNOPQR 

 

 SSSSTTTTUVWUVWUVWUVW XY
30MZ 

1. [ 1.0L 0.1 0 mol·L−1
Na[Ag(CN)2]��3��� 0.10molNaCN \]�^B_��

0.01molNa2S \] X��\]B�`a��]b2?(ZOc/ Ag2S
� +%R->defg&X10MZ hij

K kl�[
2Ag(CN)−  

]= 1.0m10
−20 

      Ksp
� (Ag2S)=6.3m10

−50 

 

2. nopqrstuvwxyz 

                        2NO2(g)   2NO(g)  +  O2(g) 

  ∆fHm
�  

(kJ·mol
−1

)         33.2             90.25        0                   

Sm
�  

(J·mol
−1

·K
−1

)      240.1            210.76      205.14          

 {1|}~���� 770K �� �

mrG∆ (770K)= �   K�(770K)= � 

 {2|� 770K �� ������NO2������ 1mol���NO2������
80%������������� {10�� 

 

3.  ¡¢£ 1.0mol·L−1
FeSO4¤¥¦§¨©ª«¬­®¯©ª«¬­¨°¡¢£ 1.0 

mol·L−1
CuSO4¤¥¦®±²³´µª«¬­¶·¸¹º»¼¬­½¾¿ CuSO4¤¥¦ÀÁÂÃÄ

NH3·H2O
®Å

CuSO4ÆÇÈÉ [̈Cu(NH
3
)
4
]SO4

®Ê¤¥¦ÄNH3ÄËÌÍÎ£
1.0 mol·L

-1
,ÏÐ¬­Ä¬ÑÒÓÔÕÖ ×ØÙ

E� (Fe
2+

/Fe)= –0.44VÚ  E� (Cu
2+

/Cu)= + 0.345VÛK ÜÝÜÝÜÝÜÝ� [Cu(NH
3
)

4

2+

]=4.8Þ
10

−14ßà
10áâ 

 


